

July 10, 2025

City of Hartford 19 W Main Street Hartford, MI 49057

Attention: Ms. Nicol Pulluiam, City Manager

RE: WATER SYSTEM IMPROVEMENTS PROJECT BID TABULATION AND RECOMMENDATION FOR AWARDS

Dear Nicol:

I have reviewed and tabulated the bids received on June 24, 2025, and June 27, 2025, for the above referenced project and have found the following Contractors to be the low responsive bidder for the respective contracts and costs below:

Contract	Contractor	Bid Amount
Contract A – LSLR	Compton Inc.	\$4,540,787.50
Contract B – Water Main Replacement	Kalin Construction Co. Inc.	\$2,979,063.00
Contract C – Water Main Replacement	Krohn Excavating LLC	\$2,507,461.50
Contract D – Controls and Instrumentation	L.D. Docsa Associates, Inc.	\$509,150.00

It is our recommendation the City of Hartford awards Contract A to Compton Inc., Contract B to Kalin Construction Co. Inc., Contract C to Krohn Excavating LLC, and Contract D to L.D. Docsa Associates, Inc. in the respective amounts shown above at the next council meeting on July 14, 2025. The award of this contract should be contingent upon successful financial arrangements with the Drinking Water State Revolving Fund (DWSRF).

Please find the bid tabulations for this project enclosed for your records and draft Resolutions for each Contract to Tentatively Award a Construction Contract for Water System Improvements.

If you have any questions, please feel free to call me.

Very truly yours,

Paul Harvey, PE pharvey@gowightman.com

Enclosure

PROJECT: Water System Improvements Project - Contract A

OWNER: City of Hartford

BID OPENING: 6/24/2025 @ 10:00 am

				Compto	Compton Inc. Five Star Energy Services LLC B an		B and Z E	and Z Excavating	
No.	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization, Max \$200,000	1	LSUM	\$200,000.00	\$200,000.00	\$50,000.00	\$50,000.00	\$200,000.00	\$200,000.00
2	Curb and Gutter, Rem	300	Ft	\$24.00	\$7,200.00	\$1.00	\$300.00	\$15.00	\$4,500.00
3	Pavt, Rem	325	Syd	\$29.50	\$9,587.50	\$1.00	\$325.00	\$25.00	\$8,125.00
4	Sidewalk, Rem	3,500	Syd	\$6.00	\$21,000.00	\$1.00	\$3,500.00	\$20.00	\$70,000.00
5	Exploratory Investigation, Vertical	500	Ea	\$300.00	\$150,000.00	\$350.00	\$175,000.00	\$1,275.00	\$637,500.00
6	Aggregate Base, 8 inch	1,200	Syd	\$17.00	\$20,400.00	\$1.00	\$1,200.00	\$30.00	\$36,000.00
7	HMA Surface, Rem	1,600	Syd	\$5.00	\$8,000.00	\$1.00	\$1,600.00	\$25.00	\$40,000.00
8	Hand Patching	325	Ton	\$395.00	\$128,375.00	\$220.00	\$71,500.00	\$450.00	\$146,250.00
9	Driveway, Nonreinf Conc, 6 inch	325	Syd	\$73.00	\$23,725.00	\$140.00	\$45,500.00	\$130.00	\$42,250.00
10	Curb and Gutter, Conc, Det C4	300	Ft	\$33.50	\$10,050.00	\$65.00	\$19,500.00	\$20.00	\$6,000.00
11	Sidewalk, Conc, 4 inch	25,000	Sft	\$7.25	\$181,250.00	\$0.01	\$250.00	\$9.00	\$225,000.00
12	Sidewalk, Conc, 6 inch	7,000	Sft	\$8.50	\$59,500.00	\$0.01	\$70.00	\$13.00	\$91,000.00
13	Traf Control	1	LSUM	\$45,000.00	\$45,000.00	\$15,000.00	\$15,000.00	\$500,000.00	\$500,000.00
14	Copper Water Service Pipe, 1 inch	23,000	Ft	\$79.00	\$1,817,000.00	\$126.00	\$2,898,000.00	\$60.00	\$1,380,000.00
15	Copper Water Service Pipe, 2 inch	250	Ft	\$110.00	\$27,500.00	\$250.00	\$62,500.00	\$100.00	\$25,000.00
16	Building Reconnection, Basement	400	Ea	\$1,280.00	\$512,000.00	\$3,600.00	\$1,440,000.00	\$1,000.00	\$400,000.00
17	Building Reconnection, Crawl Space	120	Ea	\$1,280.00	\$153,600.00	\$3,600.00	\$432,000.00	\$1,150.00	\$138,000.00
18	Building Reconnection, Slab	60	Ea	\$1,280.00	\$76,800.00	\$3,600.00	\$216,000.00	\$1,655.00	\$99,300.00
19	Connect to Existing Service	420	Ea	\$190.00	\$79,800.00	\$500.00	\$210,000.00	\$1,000.00	\$420,000.00
20	Meter, Building	600	Ea	\$510.00	\$306,000.00	\$1.00	\$600.00	\$1,400.00	\$840,000.00
21	Meter, Meter Pit	140	Ea	\$1,500.00	\$210,000.00	\$25.00	\$3,500.00	\$1,000.00	\$140,000.00
22	Water Service, 1 inch	190	Ea	\$2,500.00	\$475,000.00	\$0.01	\$1.90	\$1,650.00	\$313,500.00
23	Water Service, 2 inch	5	Ea	\$3,800.00	\$19,000.00	\$1,000.00	\$5,000.00	\$6,000.00	\$30,000.00
Total Bio	<u>i</u>				\$4,540,787.50		\$5,651,346.90		\$5,792,425.00



OWNER: City of Hartford

No.	Description	Qty.	Unit	Kalin Construct	ion Co. Inc.	Krohn Excava	ating LLC	Pajay, I	nc.	Balkema Ex	cavating
			-	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization, Max \$265,000	1	LSUM	\$265,000.00	\$265,000.00	\$265,000.00	\$265,000.00	\$265,000.00	\$265,000.00	\$265,000.00	\$265,000.00
2	Tree, Rem, 19 inch to 36 inch	6	Ea	\$878.00	\$5,268.00	\$1,000.00	\$6,000.00	\$1,000.00	\$6,000.00	\$2,328.16	\$13,968.96
3	Tree, Rem, 37 inch or Larger	4	Ea	\$1,915.00	\$7,660.00	\$2,200.00	\$8,800.00	\$2,200.00	\$8,800.00	\$3,809.71	\$15,238.84
4	Tree, Rem, 6 inch to 18 inch	3	Ea	\$223.00	\$669.00	\$300.00	\$900.00	\$350.00	\$1,050.00	\$952.43	\$2,857.29
5	Culv, Rem, Less than 24 inch	16	Ea	\$477.00	\$7,632.00	\$350.00	\$5,600.00	\$500.00	\$8,000.00	\$374.55	\$5,992.80
6	Dr Structure, Rem	19	Ea	\$643.00	\$12,217.00	\$600.00	\$11,400.00	\$750.00	\$14,250.00	\$749.10	\$14,232.90
7	Sewer, Rem, Less than 24 inch	1,405	Ft	\$16.00	\$22,480.00	\$35.00	\$49,175.00	\$10.00	\$14,050.00	\$15.00	\$21,075.00
8	Sewer, Rem, 24 Inch to 28 Inch	745	Ft	\$24.00	\$17,880.00	\$45.00	\$33,525.00	\$20.00	\$14,900.00	\$20.00	\$14,900.00
9	Curb and Gutter, Rem	510	Ft	\$9.00	\$4,590.00	\$9.00	\$4,590.00	\$10.00	\$5,100.00	\$12.55	\$6,400.50
10	Masonry and Conc Structure, Rem	30	Cyd	\$51.00	\$1,530.00	\$30.00	\$900.00	\$50.00	\$1,500.00	\$110.50	\$3,315.00
11	Pavt, Rem	150	Syd	\$16.00	\$2,400.00	\$22.00	\$3,300.00	\$10.00	\$1,500.00	\$11.40	\$1,710.00
12	Sidewalk, Rem	690	Syd	\$6.00	\$4,140.00	\$7.00	\$4,830.00	\$5.00	\$3,450.00	\$11.40	\$7,866.00
13	Subgrade Undercutting, Type II	500	Cyd	\$20.00	\$10,000.00	\$24.00	\$12,000.00	\$20.00	\$10,000.00	\$38.50	\$19,250.00
14	Machine Grading, Modified	29	Sta	\$4,584.00	\$132,936.00	\$6,100.00	\$176,900.00	\$3,500.00	\$101,500.00	\$3,433.00	\$99,557.00
15	Erosion Control, Inlet Protection, Fabric Drop	49	Ea	\$116.00	\$5,684.00	\$150.00	\$7,350.00	\$100.00	\$4,900.00	\$100.00	\$4,900.00
16	Erosion Control, Silt Fence	1,000	Ft	\$4.00	\$4,000.00	\$3.00	\$3,000.00	\$2.00	\$2,000.00	\$3.50	\$3,500.00
17	Subbase, CIP	4,020	Cyd	\$15.00	\$60,300.00	\$27.50	\$110,550.00	\$22.00	\$88,440.00	\$13.95	\$56,079.00
18	Aggregate Base, 8 inch	11,310	Syd	\$10.00	\$113,100.00	\$11.00	\$124,410.00	\$7.00	\$79,170.00	\$14.90	\$168,519.00
19	Approach Cl II, CIP	27	Cyd	\$68.00	\$1,836.00	\$50.00	\$1,350.00	\$25.00	\$675.00	\$48.70	\$1,314.90
20	Culv, End Sect, 12 Inch	2	Ea	\$219.00	\$438.00	\$400.00	\$800.00	\$200.00	\$400.00	\$900.05	\$1,800.10
21	Culv, Cl F, 12 Inch	30	Ft	\$36.00	\$1,080.00	\$40.00	\$1,200.00	\$30.00	\$900.00	\$44.75	\$1,342.50
22	Sewer, CI E, 12 inch, Tr Det B	610	Ft	\$74.00	\$45,140.00	\$47.00	\$28,670.00	\$40.00	\$24,400.00	\$67.45	\$41,144.50
23	Sewer, CI E, 15 inch, Tr Det B	425	Ft	\$64.00	\$27,200.00	\$50.00	\$21,250.00	\$45.00	\$19,125.00	\$72.60	\$30,855.00
24	Sewer, CI E, 18 inch, Tr Det B	50	Ft	\$80.00	\$4,000.00	\$53.00	\$2,650.00	\$50.00	\$2,500.00	\$108.65	\$5,432.50
25	Sewer, CI E, 24 inch, Tr Det B	745	Ft	\$87.00	\$64,815.00	\$115.00	\$85,675.00	\$99.00	\$73,755.00	\$124.05	\$92,417.25
26	Dr Structure Cover, Adj, Case 2	7	Ea	\$790.00	\$5,530.00	\$250.00	\$1,750.00	\$350.00	\$2,450.00	\$482.60	\$3,378.20
27	Dr Structure Cover, Type B	17	Ea	\$920.00	\$15,640.00	\$650.00	\$11,050.00	\$750.00	\$12,750.00	\$1,154.00	\$19,618.00
28	Dr Structure Cover, Type C	10	Ea	\$1,201.00	\$12,010.00	\$950.00	\$9,500.00	\$975.00	\$9,750.00	\$1,491.00	\$14,910.00
29	Dr Structure Cover, Type G	3	Ea	\$644.00	\$1,932.00	\$550.00	\$1,650.00	\$600.00	\$1,800.00	\$1,049.00	\$3,147.00
30	Dr Structure Cover, Type K	15	Ea	\$997.00	\$14,955.00	\$950.00	\$14,250.00	\$1,000.00	\$15,000.00	\$1,491.00	\$22,365.00
31	Dr Structure Cover, Type Q	8	Ea	\$951.00	\$7,608.00	\$650.00	\$5,200.00	\$750.00	\$6,000.00	\$1,193.00	\$9,544.00



OWNER: City of Hartford

No.	Description	Qty.	Unit	Kalin Construct	ion Co. Inc.	Krohn Excav	vating LLC	Pajay, I	nc.	Balkema Ex	cavating
		_		Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
32	Dr Structure, 24 inch dia	13	Ea	\$1,668.00	\$21,684.00	\$1,700.00	\$22,100.00	\$1,800.00	\$23,400.00	\$1,882.00	\$24,466.00
33	Dr Structure, 48 inch dia	13	Ea	\$2,652.00	\$34,476.00	\$2,400.00	\$31,200.00	\$4,500.00	\$58,500.00	\$3,061.00	\$39,793.00
34	Dr Structure, 60 inch dia	2	Ea	\$7,910.00	\$15,820.00	\$3,400.00	\$6,800.00	\$5,500.00	\$11,000.00	\$4,322.00	\$8,644.00
35	Leaching Basin, 60 inch dia	6	Ea	\$7,459.00	\$44,754.00	\$5,700.00	\$34,200.00	\$5,500.00	\$33,000.00	\$6,631.00	\$39,786.00
36	Dr Structure Cover, Adj, Case 1, Modified	17	Ea	\$973.00	\$16,541.00	\$1,100.00	\$18,700.00	\$350.00	\$5,950.00	\$482.60	\$8,204.20
37	Accessible Dr Structure Cover	2	Ea	\$1,174.00	\$2,348.00	\$650.00	\$1,300.00	\$750.00	\$1,500.00	\$1,193.00	\$2,386.00
38	Dr Structure Cover, Type B, Modified	1	Ea	\$920.00	\$920.00	\$650.00	\$650.00	\$1,000.00	\$1,000.00	\$1,154.00	\$1,154.00
39	HMA Surface, Rem	11,100	Syd	\$4.00	\$44,400.00	\$2.50	\$27,750.00	\$2.00	\$22,200.00	\$2.20	\$24,420.00
40	Hand Patching	30	Ton	\$213.00	\$6,390.00	\$220.00	\$6,600.00	\$250.00	\$7,500.00	\$201.57	\$6,047.10
41	HMA, 4EL	1,350	Ton	\$91.00	\$122,850.00	\$90.00	\$121,500.00	\$88.00	\$118,800.00	\$86.68	\$117,018.00
42	HMA, 5EL	1,350	Ton	\$98.00	\$132,300.00	\$96.00	\$129,600.00	\$94.00	\$126,900.00	\$92.72	\$125,172.00
43	Driveway, Nonreinf Conc, 6 inch	1,240	Syd	\$60.00	\$74,400.00	\$59.00	\$73,160.00	\$59.00	\$73,160.00	\$65.00	\$80,600.00
44	Curb and Gutter, Conc, Det C4	2,105	Ft	\$29.00	\$61,045.00	\$27.00	\$56,835.00	\$29.00	\$61,045.00	\$32.00	\$67,360.00
45	Driveway Opening, Conc, Det M	65	Ft	\$34.00	\$2,210.00	\$28.50	\$1,852.50	\$35.00	\$2,275.00	\$40.00	\$2,600.00
46	Detectable Warning Surface	65	Ft	\$43.00	\$2,795.00	\$38.50	\$2,502.50	\$45.00	\$2,925.00	\$40.00	\$2,600.00
47	Curb Ramp Opening, Conc	110	Ft	\$29.00	\$3,190.00	\$25.00	\$2,750.00	\$29.00	\$3,190.00	\$27.00	\$2,970.00
48	Sidewalk, Conc, 4 inch	5,010	Sft	\$6.00	\$30,060.00	\$7.00	\$35,070.00	\$6.00	\$30,060.00	\$6.50	\$32,565.00
49	Sidewalk, Conc, 6 inch	950	Sft	\$7.00	\$6,650.00	\$7.50	\$7,125.00	\$7.00	\$6,650.00	\$8.00	\$7,600.00
50	Curb Ramp, Conc, 6 inch	370	Sft	\$7.00	\$2,590.00	\$9.00	\$3,330.00	\$8.00	\$2,960.00	\$8.00	\$2,960.00
51	Curb Slp, HMA	3,605	Ft	\$1.00	\$3,605.00	\$1.00	\$3,605.00	\$1.50	\$5,407.50	\$1.01	\$3,641.05
52	Post, Mailbox	10	Ea	\$218.00	\$2,180.00	\$150.00	\$1,500.00	\$100.00	\$1,000.00	\$115.00	\$1,150.00
53	Post, Steel, 3 pound	240	Ft	\$7.00	\$1,680.00	\$10.00	\$2,400.00	\$10.00	\$2,400.00	\$9.00	\$2,160.00
54	Sign, Type III, Erect, Salv	1	Ea	\$27.00	\$27.00	\$55.00	\$55.00	\$75.00	\$75.00	\$25.00	\$25.00
55	Sign, Type III, Rem	22	Ea	\$91.00	\$2,002.00	\$55.00	\$1,210.00	\$75.00	\$1,650.00	\$10.00	\$220.00
56	Sign, Type IIIA	180	Sft	\$18.00	\$3,240.00	\$21.00	\$3,780.00	\$20.00	\$3,600.00	\$16.50	\$2,970.00
57	Sign, Type IIIB	30	Sft	\$16.00	\$480.00	\$21.00	\$630.00	\$20.00	\$600.00	\$15.50	\$465.00
58	Ground Mtd Sign Support, Rem	15	Ea	\$361.00	\$5,415.00	\$55.00	\$825.00	\$75.00	\$1,125.00	\$15.00	\$225.00
59	Pavt Mrkg, Ovly Cold Plastic, 6 inch, Crosswalk	640	Ft	\$4.00	\$2,560.00	\$4.00	\$2,560.00	\$4.00	\$2,560.00	\$3.85	\$2,464.00
60	Pavt Mrkg, Ovly Cold Plastic, 18 inch, Stop Bar	145	Ft	\$11.00	\$1,595.00	\$12.00	\$1,740.00	\$12.00	\$1,740.00	\$11.00	\$1,595.00
61	Pavt Mrkg, Ovly Cold Plastic, 24 Inch, Stop bar	30	Ft	\$16.00	\$480.00	\$20.00	\$600.00	\$20.00	\$600.00	\$15.00	\$450.00
62	Pavt Mrkg, Waterborne, 6 inch, White	500	Ft	\$3.00	\$1,500.00	\$2.00	\$1,000.00	\$2.00	\$1,000.00	\$1.50	\$750.00



OWNER: City of Hartford

No.	Description	Qty.	Unit	Kalin Construct	ion Co. Inc.	Krohn Excava	ating LLC	Pajay,	Inc.	Balkema Exc	avating
		-		Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
63	Pavt Mrkg, Waterborne, 6 inch, Yellow	600	Ft	\$3.00	\$1,800.00	\$2.00	\$1,200.00	\$2.00	\$1,200.00	\$1.50	\$900.00
64	Pavt Mrkg, Waterborne, for Rest Areas, Pakrs, and Lots, 4 I	500	Ft	\$3.00	\$1,500.00	\$3.00	\$1,500.00	\$3.00	\$1,500.00	\$2.95	\$1,475.00
65	Barricade, Type III, High Intensity, Double Sided, Lighted, Fu	22	Ea	\$102.00	\$2,244.00	\$165.00	\$3,630.00	\$175.00	\$3,850.00	\$96.00	\$2,112.00
66	Barricade, Type III, High Intensity, Double Sided, Lighted, O	22	Ea	\$1.00	\$22.00	\$1.00	\$22.00	\$5.00	\$110.00	\$1.00	\$22.00
67	Pedestrian Type II Barricade, Temp	20	Ea	\$80.00	\$1,600.00	\$135.00	\$2,700.00	\$150.00	\$3,000.00	\$75.00	\$1,500.00
68	Channelizing Device, 42 inch, Fluorescent, Furn	250	Ea	\$14.00	\$3,500.00	\$31.00	\$7,750.00	\$31.00	\$7,750.00	\$13.00	\$3,250.00
69	Channelizing Device, 42 inch, Fluorescent, Oper	250	Ea	\$1.00	\$250.00	\$1.00	\$250.00	\$2.00	\$500.00	\$1.00	\$250.00
70	Minor Traf Devices	1	LSUM	\$51,653.00	\$51,653.00	\$106,000.00	\$106,000.00	\$17,000.00	\$17,000.00	\$89,004.00	\$89,004.00
71	Sign, Type B, Temp, Prismatic, Furn	780	Sft	\$3.00	\$2,340.00	\$4.40	\$3,432.00	\$4.00	\$3,120.00	\$3.00	\$2,340.00
72	Sign, Type B, Temp, Prismatic, Oper	780	Sft	\$0.30	\$234.00	\$1.00	\$780.00	\$2.00	\$1,560.00	\$0.25	\$195.00
73	Sign, Type B, Temp, Prismatic, Spec, Furn	140	Sft	\$3.00	\$420.00	\$9.00	\$1,260.00	\$10.00	\$1,400.00	\$3.00	\$420.00
74	Sign, Type B, Temp, Prismatic, Spec, Oper	140	Sft	\$0.30	\$42.00	\$1.00	\$140.00	\$2.00	\$280.00	\$0.25	\$35.00
75	Slope Restoration, Railroad Street	1	LSUM	\$4,733.00	\$4,733.00	\$2,400.00	\$2,400.00	\$5,000.00	\$5,000.00	\$5,085.00	\$5,085.00
76	Slope Restoration, Michigan Ave	1	LSUM	\$9,318.00	\$9,318.00	\$5,400.00	\$5,400.00	\$5,000.00	\$5,000.00	\$16,998.00	\$16,998.00
77	Slope Restoration, E Olds Drive	1	LSUM	\$4,535.00	\$4,535.00	\$1,400.00	\$1,400.00	\$5,000.00	\$5,000.00	\$2,542.00	\$2,542.00
78	Slope Restoration, Hilliard and Hart St	1	LSUM	\$26,895.00	\$26,895.00	\$16,000.00	\$16,000.00	\$5,000.00	\$5,000.00	\$24,771.00	\$24,771.00
79	Slope Restoration, Washington St	1	LSUM	\$13,477.00	\$13,477.00	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00	\$11,659.00	\$11,659.00
80	Insulation Board, 2 inch	2,000	Sft	\$2.00	\$4,000.00	\$6.50	\$13,000.00	\$5.00	\$10,000.00	\$1.85	\$3,700.00
81	Gate Box, Adj, Case 1, Modified	5	Ea	\$298.00	\$1,490.00	\$1,000.00	\$5,000.00	\$325.00	\$1,625.00	\$120.65	\$603.25
82	Water Main, DI, 4 inch, Tr Det G, Modified	10	Ft	\$137.00	\$1,370.00	\$100.00	\$1,000.00	\$100.00	\$1,000.00	\$163.65	\$1,636.50
83	Water Main, DI, 6 inch, Tr Det G, Modified	4,300	Ft	\$73.00	\$313,900.00	\$72.00	\$309,600.00	\$195.00	\$838,500.00	\$98.95	\$425,485.00
84	Water Main, DI, 8 inch, Tr Det G, Modified	605	Ft	\$85.00	\$51,425.00	\$100.00	\$60,500.00	\$65.00	\$39,325.00	\$118.75	\$71,843.75
85	Polyethylene Encasement	1,000	Ft	\$0.50	\$500.00	\$3.00	\$3,000.00	\$2.00	\$2,000.00	\$1.10	\$1,100.00
86	Copper Water Service Pipe, 1 inch	4,310	Ft	\$30.00	\$129,300.00	\$26.00	\$112,060.00	\$27.00	\$116,370.00	\$59.25	\$255,367.50
87	Copper Water Service Pipe, 2 inch	150	Ft	\$48.00	\$7,200.00	\$52.00	\$7,800.00	\$75.00	\$11,250.00	\$86.60	\$12,990.00
88	Gate Valve and Box, 6 inch	11	Ea	\$1,850.00	\$20,350.00	\$1,900.00	\$20,900.00	\$1,750.00	\$19,250.00	\$2,800.00	\$30,800.00
89	Gate Valve and Box, 8 inch	2	Ea	\$2,462.00	\$4,924.00	\$2,500.00	\$5,000.00	\$2,400.00	\$4,800.00	\$3,551.00	\$7,102.00
90	Hydrant, Valve and Box, 6 inch	8	Ea	\$5,719.00	\$45,752.00	\$5,200.00	\$41,600.00	\$5,200.00	\$41,600.00	\$8,560.00	\$68,480.00
91	Hydrant, Rem	7	Ea	\$1,239.00	\$8,673.00	\$600.00	\$4,200.00	\$750.00	\$5,250.00	\$749.10	\$5,243.70
92	Connect to Existing Main, 4 inch	1	Ea	\$4,533.00	\$4,533.00	\$1,800.00	\$1,800.00	\$2,500.00	\$2,500.00	\$4,630.00	\$4,630.00
93	Connect to Existing Main, 6 inch	10	Ea	\$3,054.00	\$30,540.00	\$2,000.00	\$20,000.00	\$3,500.00	\$35,000.00	\$4,727.00	\$47,270.00



OWNER: City of Hartford

BID OPENING: 6/24/2025 @ 10:00 am

No.	Description	Qty.	Unit	Kalin Construct	ion Co. Inc.	Krohn Exca	vating LLC	Pajay,	Inc.	Balkema Ex	cavating
			-	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
94	Connect to Existing Main, 8 inch	3	Ea	\$5,093.00	\$15,279.00	\$2,400.00	\$7,200.00	\$4,000.00	\$12,000.00	\$4,847.00	\$14,541.00
95	Connect to Existing Main, 12 inch	1	Ea	\$4,788.00	\$4,788.00	\$3,500.00	\$3,500.00	\$4,500.00	\$4,500.00	\$5,213.00	\$5,213.00
96	Water Main, 4 inch, Cut and Plug, Modified	1	Ea	\$2,051.00	\$2,051.00	\$400.00	\$400.00	\$1,500.00	\$1,500.00	\$146.60	\$146.60
97	Water Main, 6 inch, Cut and Plug, Modified	1	Ea	\$2,137.00	\$2,137.00	\$500.00	\$500.00	\$1,600.00	\$1,600.00	\$211.60	\$211.60
98	Water Main, 8 inch, Cut and Plug, Modified	1	Ea	\$2,236.00	\$2,236.00	\$600.00	\$600.00	\$1,800.00	\$1,800.00	\$298.75	\$298.75
99	Water Main, 12 inch, Cut and Plug, Modified	1	Ea	\$2,306.00	\$2,306.00	\$900.00	\$900.00	\$2,500.00	\$2,500.00	\$589.15	\$589.15
100	Water Main Line Stop, 4 inch	1	Ea	\$6,701.00	\$6,701.00	\$6,100.00	\$6,100.00	\$5,500.00	\$5,500.00	\$6,263.00	\$6,263.00
101	Water Main Line Stop, 6 inch	10	Ea	\$6,959.00	\$69,590.00	\$6,400.00	\$64,000.00	\$5,800.00	\$58,000.00	\$6,524.00	\$65,240.00
102	Water Main Line Stop, 8 inch	3	Ea	\$7,406.00	\$22,218.00	\$6,900.00	\$20,700.00	\$6,000.00	\$18,000.00	\$6,850.00	\$20,550.00
103	Water Main Line Stop, 12 inch	1	Ea	\$9,393.00	\$9,393.00	\$8,900.00	\$8,900.00	\$10,000.00	\$10,000.00	\$11,090.00	\$11,090.00
104	Water Service, 1 inch	71	Ea	\$885.00	\$62,835.00	\$1,650.00	\$117,150.00	\$1,125.00	\$79,875.00	\$1,786.00	\$126,806.00
105	Water Service, 2 inch	3	Ea	\$1,584.00	\$4,752.00	\$2,400.00	\$7,200.00	\$2,500.00	\$7,500.00	\$2,814.00	\$8,442.00
106	Building Reconnection, Slab	14	Ea	\$1,436.00	\$20,104.00	\$2,600.00	\$36,400.00	\$4,500.00	\$63,000.00	\$1,000.00	\$14,000.00
107	Building Reconnection, Basement	45	Ea	\$1,436.00	\$64,620.00	\$1,650.00	\$74,250.00	\$4,000.00	\$180,000.00	\$1,400.00	\$63,000.00
108	Building Reconnection, Crawl Space	8	Ea	\$1,436.00	\$11,488.00	\$1,650.00	\$13,200.00	\$4,500.00	\$36,000.00	\$1,200.00	\$9,600.00
109	Meter, Meter Pit	5	Ea	\$3,200.00	\$16,000.00	\$1,900.00	\$9,500.00	\$1,500.00	\$7,500.00	\$2,720.73	\$13,603.65
110	Meter, Building	65	Ea	\$1,473.00	\$95,745.00	\$1,500.00	\$97,500.00	\$1,975.00	\$128,375.00	\$500.00	\$32,500.00
111	Sanitary Sewer, PVC, 8 inch, Tr Det B2, Modified	380	Ft	\$85.00	\$32,300.00	\$60.00	\$22,800.00	\$50.00	\$19,000.00	\$265.00	\$100,700.00
112	Sanitary Sewer, PVC, 10 inch, Tr Det B2, Modified	50	Ft	\$200.00	\$10,000.00	\$104.00	\$5,200.00	\$100.00	\$5,000.00	\$265.00	\$13,250.00
113	Sanitary Sewer, PVC, 12 inch, Tr Det B2, Modified	50	Ft	\$206.00	\$10,300.00	\$117.00	\$5,850.00	\$100.00	\$5,000.00	\$265.00	\$13,250.00
114	Sanitary Sewer Lead, 4 inch	100	Ft	\$99.00	\$9,900.00	\$27.00	\$2,700.00	\$20.00	\$2,000.00	\$70.00	\$7,000.00
115	Sanitary Sewer Lead, 6 inch	1,100	Ft	\$97.00	\$106,700.00	\$31.00	\$34,100.00	\$25.00	\$27,500.00	\$75.00	\$82,500.00
116	Sanitary Wye, 8 inch x 6 inch	7	Ea	\$299.00	\$2,093.00	\$900.00	\$6,300.00	\$250.00	\$1,750.00	\$2,850.00	\$19,950.00
117	Sanitary Wye, 10 inch x 6 inch	18	Ea	\$3,295.00	\$59,310.00	\$1,200.00	\$21,600.00	\$400.00	\$7,200.00	\$3,060.00	\$55,080.00
118	Compact Ductile Iron Fittings	3,440	Lb	\$11.00	\$37,840.00	\$8.50	\$29,240.00	\$7.00	\$24,080.00	\$6.00	\$20,640.00
119	Railroad Protection, at Grade Crossings	20,000	Dlr	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
		I									
Total Bi	d				\$2,979,063.00		\$2,999,269.00		\$3,336,807.50		\$3,407,366.04

PROJECT: Water System Improvements Project - Contract B

OWNER: City of Hartford

2 1 3 1 4 1 5 0 6 1 7 5 8 5 9 0 10 1 11 F 12 5	Mobilization, Max \$265,000			Unit Price	Tatal				
2 1 3 1 4 1 5 0 6 1 7 5 8 5 9 0 10 1 11 F 12 5		4		011111100	Total	Unit Price	Total	Unit Price	Total
3 1 4 7 5 0 6 [7 5 8 5 9 0 10 1 11 F 12 5		1	LSUM	\$265,000.00	\$265,000.00	\$100,000.00	\$100,000.00	\$265,000.00	\$265,000.00
4 7 5 0 6 [7 8 8 5 9 0 10 M 11 F 12 5	Tree, Rem, 19 inch to 36 inch	6	Ea	\$1,000.00	\$6,000.00	\$1,900.00	\$11,400.00	\$1,125.00	\$6,750.00
5 (6 [7 5 8 5 9 (10 N 11 F 12 5	Tree, Rem, 37 inch or Larger	4	Ea	\$2,200.00	\$8,800.00	\$2,600.00	\$10,400.00	\$2,500.00	\$10,000.00
6 [7 5 8 5 9 0 10 N 11 F 12 5	Tree, Rem, 6 inch to 18 inch	3	Ea	\$400.00	\$1,200.00	\$500.00	\$1,500.00	\$350.00	\$1,050.00
7 \$ 8 \$ 9 0 10 M 11 F 12 \$	Culv, Rem, Less than 24 inch	16	Ea	\$400.00	\$6,400.00	\$180.00	\$2,880.00	\$200.00	\$3,200.00
8 5 9 0 10 M 11 F 12 5	Dr Structure, Rem	19	Ea	\$600.00	\$11,400.00	\$1,100.00	\$20,900.00	\$500.00	\$9,500.00
9 (10 M 11 F 12 S	Sewer, Rem, Less than 24 inch	1,405	Ft	\$20.00	\$28,100.00	\$18.00	\$25,290.00	\$20.00	\$28,100.00
10 M 11 F 12 S	Sewer, Rem, 24 Inch to 28 Inch	745	Ft	\$40.00	\$29,800.00	\$22.50	\$16,762.50	\$22.00	\$16,390.00
11 F 12 S	Curb and Gutter, Rem	510	Ft	\$18.00	\$9,180.00	\$13.50	\$6,885.00	\$7.50	\$3,825.00
12 \$	Masonry and Conc Structure, Rem	30	Cyd	\$150.00	\$4,500.00	\$61.00	\$1,830.00	\$100.00	\$3,000.00
	Pavt, Rem	150	Syd	\$18.00	\$2,700.00	\$75.00	\$11,250.00	\$30.00	\$4,500.00
	Sidewalk, Rem	690	Syd	\$12.00	\$8,280.00	\$19.00	\$13,110.00	\$5.50	\$3,795.00
13 8	Subgrade Undercutting, Type II	500	Cyd	\$35.00	\$17,500.00	\$41.00	\$20,500.00	\$25.00	\$12,500.00
14 N	Machine Grading, Modified	29	Sta	\$6,300.00	\$182,700.00	\$10,250.00	\$297,250.00	\$5,800.00	\$168,200.00
15 E	Erosion Control, Inlet Protection, Fabric Drop	49	Ea	\$100.00	\$4,900.00	\$120.00	\$5,880.00	\$75.00	\$3,675.00
16 E	Erosion Control, Silt Fence	1,000	Ft	\$2.00	\$2,000.00	\$3.35	\$3,350.00	\$2.00	\$2,000.00
17 \$	Subbase, CIP	4,020	Cyd	\$22.00	\$88,440.00	\$35.50	\$142,710.00	\$5.50	\$22,110.00
18 A	Aggregate Base, 8 inch	11,310	Syd	\$12.50	\$141,375.00	\$20.00	\$226,200.00	\$12.50	\$141,375.00
19 A	Approach Cl II, CIP	27	Cyd	\$80.00	\$2,160.00	\$105.00	\$2,835.00	\$15.00	\$405.00
20 0	Culv, End Sect, 12 Inch	2	Ea	\$750.00	\$1,500.00	\$1,000.00	\$2,000.00	\$300.00	\$600.00
21 (Culv, Cl F, 12 Inch	30	Ft	\$80.00	\$2,400.00	\$49.00	\$1,470.00	\$30.00	\$900.00
22 \$	Sewer, Cl E, 12 inch, Tr Det B	610	Ft	\$95.00	\$57,950.00	\$58.00	\$35,380.00	\$85.00	\$51,850.00
23 8	Sewer, Cl E, 15 inch, Tr Det B	425	Ft	\$110.00	\$46,750.00	\$76.00	\$32,300.00	\$125.00	\$53,125.00
24 \$	Sewer, Cl E, 18 inch, Tr Det B	50	Ft	\$120.00	\$6,000.00	\$94.00	\$4,700.00	\$180.00	\$9,000.00
25 \$	Sewer, Cl E, 24 inch, Tr Det B	745	Ft	\$180.00	\$134,100.00	\$129.50	\$96,477.50	\$155.00	\$115,475.00
26 [Dr Structure Cover, Adj, Case 2	7	Ea	\$800.00	\$5,600.00	\$900.00	\$6,300.00	\$650.00	\$4,550.00
27 [Dr Structure Cover, Type B	17	Ea	\$800.00	\$13,600.00	\$1,000.00	\$17,000.00	\$1,150.00	\$19,550.00
28 [Dr Structure Cover, Type C	10	Ea	\$1,000.00	\$10,000.00	\$1,350.00	\$13,500.00	\$1,250.00	\$12,500.00
29 [3	Ea	\$600.00	\$1,800.00	\$925.00	\$2,775.00	\$985.00	\$2,955.00
30 E	Dr Structure Cover, Type G	ک		\$000.00	\$.,000.00	\$020.00	+=,	+	+ ,
31 [Dr Structure Cover, Type G Dr Structure Cover, Type K	15	Ea	\$1,000.00	\$15,000.00	\$1,375.00	\$20,625.00	\$1,150.00	\$17,250.00



PROJECT: Water System Improvements Project - Contract B

OWNER: City of Hartford

No.	Description	Qty.	Unit	Northern Constr Corpo		Brenner Ex	cavating	B and Z Co	mpany
				Unit Price	Total	Unit Price	Total	Unit Price	Total
32	Dr Structure, 24 inch dia	13	Ea	\$1,900.00	\$24,700.00	\$1,950.00	\$25,350.00	\$1,900.00	\$24,700.00
33	Dr Structure, 48 inch dia	13	Ea	\$2,750.00	\$35,750.00	\$3,550.00	\$46,150.00	\$3,100.00	\$40,300.00
34	Dr Structure, 60 inch dia	2	Ea	\$3,600.00	\$7,200.00	\$6,300.00	\$12,600.00	\$5,500.00	\$11,000.00
35	Leaching Basin, 60 inch dia	6	Ea	\$6,000.00	\$36,000.00	\$7,550.00	\$45,300.00	\$8,500.00	\$51,000.00
36	Dr Structure Cover, Adj, Case 1, Modified	17	Ea	\$800.00	\$13,600.00	\$1,350.00	\$22,950.00	\$350.00	\$5,950.00
37	Accessible Dr Structure Cover	2	Ea	\$1,000.00	\$2,000.00	\$1,250.00	\$2,500.00	\$810.00	\$1,620.00
38	Dr Structure Cover, Type B, Modified	1	Ea	\$800.00	\$800.00	\$1,000.00	\$1,000.00	\$750.00	\$750.00
39	HMA Surface, Rem	11,100	Syd	\$5.00	\$55,500.00	\$2.65	\$29,415.00	\$15.00	\$166,500.00
40	Hand Patching	30	Ton	\$200.00	\$6,000.00	\$226.00	\$6,780.00	\$200.00	\$6,000.00
41	HMA, 4EL	1,350	Ton	\$86.00	\$116,100.00	\$98.30	\$132,705.00	\$86.00	\$116,100.00
42	HMA, 5EL	1,350	Ton	\$92.00	\$124,200.00	\$105.00	\$141,750.00	\$92.00	\$124,200.00
43	Driveway, Nonreinf Conc, 6 inch	1,240	Syd	\$45.00	\$55,800.00	\$88.00	\$109,120.00	\$64.00	\$79,360.00
44	Curb and Gutter, Conc, Det C4	2,105	Ft	\$18.00	\$37,890.00	\$37.00	\$77,885.00	\$30.00	\$63,150.00
45	Driveway Opening, Conc, Det M	65	Ft	\$20.00	\$1,300.00	\$30.00	\$1,950.00	\$35.00	\$2,275.00
46	Detectable Warning Surface	65	Ft	\$35.00	\$2,275.00	\$84.00	\$5,460.00	\$44.00	\$2,860.00
47	Curb Ramp Opening, Conc	110	Ft	\$20.00	\$2,200.00	\$30.50	\$3,355.00	\$29.70	\$3,267.00
48	Sidewalk, Conc, 4 inch	5,010	Sft	\$4.20	\$21,042.00	\$7.50	\$37,575.00	\$6.05	\$30,310.50
49	Sidewalk, Conc, 6 inch	950	Sft	\$4.75	\$4,512.50	\$9.50	\$9,025.00	\$6.90	\$6,555.00
50	Curb Ramp, Conc, 6 inch	370	Sft	\$5.50	\$2,035.00	\$11.50	\$4,255.00	\$7.70	\$2,849.00
51	Curb Slp, HMA	3,605	Ft	\$1.00	\$3,605.00	\$1.20	\$4,326.00	\$3.00	\$10,815.00
52	Post, Mailbox	10	Ea	\$75.00	\$750.00	\$225.00	\$2,250.00	\$50.00	\$500.00
53	Post, Steel, 3 pound	240	Ft	\$7.00	\$1,680.00	\$10.20	\$2,448.00	\$9.00	\$2,160.00
54	Sign, Type III, Erect, Salv	1	Ea	\$25.00	\$25.00	\$56.50	\$56.50	\$50.00	\$50.00
55	Sign, Type III, Rem	22	Ea	\$10.00	\$220.00	\$56.60	\$1,245.20	\$50.00	\$1,100.00
56	Sign, Type IIIA	180	Sft	\$16.50	\$2,970.00	\$21.70	\$3,906.00	\$19.00	\$3,420.00
57	Sign, Type IIIB	30	Sft	\$15.50	\$465.00	\$21.70	\$651.00	\$19.00	\$570.00
58	Ground Mtd Sign Support, Rem	15	Ea	\$15.00	\$225.00	\$56.60	\$849.00	\$50.00	\$750.00
59	Pavt Mrkg, Ovly Cold Plastic, 6 inch, Crosswalk	640	Ft	\$3.85	\$2,464.00	\$3.45	\$2,208.00	\$3.85	\$2,464.00
60	Pavt Mrkg, Ovly Cold Plastic, 18 inch, Stop Bar	145	Ft	\$11.00	\$1,595.00	\$9.15	\$1,326.75	\$11.00	\$1,595.00
61	Pavt Mrkg, Ovly Cold Plastic, 24 Inch, Stop bar	30	Ft	\$15.00	\$450.00	\$11.30	\$339.00	\$15.00	\$450.00
62	Pavt Mrkg, Waterborne, 6 inch, White	500	Ft	\$1.50	\$750.00	\$0.29	\$145.00	\$1.50	\$750.00



OWNER: City of Hartford

No.	Description	Qty.	Unit	Northern Constru Corpor		Brenner Ex	cavating	B and Z Co	mpany
				Unit Price	Total	Unit Price	Total	Unit Price	Total
63	Pavt Mrkg, Waterborne, 6 inch, Yellow	600	Ft	\$1.50	\$900.00	\$0.29	\$174.00	\$1.50	\$900.00
64	Pavt Mrkg, Waterborne, for Rest Areas, Pakrs, and Lots, 4 I	500	Ft	\$2.95	\$1,475.00	\$0.29	\$145.00	\$2.95	\$1,475.00
65	Barricade, Type III, High Intensity, Double Sided, Lighted, Fu	22	Ea	\$96.00	\$2,112.00	\$169.50	\$3,729.00	\$150.00	\$3,300.00
66	Barricade, Type III, High Intensity, Double Sided, Lighted, O	22	Ea	\$1.00	\$22.00	\$1.15	\$25.30	\$1.00	\$22.00
67	Pedestrian Type II Barricade, Temp	20	Ea	\$75.00	\$1,500.00	\$141.50	\$2,830.00	\$125.00	\$2,500.00
68	Channelizing Device, 42 inch, Fluorescent, Furn	250	Ea	\$13.00	\$3,250.00	\$32.80	\$8,200.00	\$29.00	\$7,250.00
69	Channelizing Device, 42 inch, Fluorescent, Oper	250	Ea	\$1.00	\$250.00	\$1.15	\$287.50	\$1.00	\$250.00
70	Minor Traf Devices	1	LSUM	\$50,935.00	\$50,935.00	\$35,000.00	\$35,000.00	\$25,000.00	\$25,000.00
71	Sign, Type B, Temp, Prismatic, Furn	780	Sft	\$3.00	\$2,340.00	\$4.50	\$3,510.00	\$4.00	\$3,120.00
72	Sign, Type B, Temp, Prismatic, Oper	780	Sft	\$0.25	\$195.00	\$1.15	\$897.00	\$1.00	\$780.00
73	Sign, Type B, Temp, Prismatic, Spec, Furn	140	Sft	\$3.00	\$420.00	\$9.05	\$1,267.00	\$8.00	\$1,120.00
74	Sign, Type B, Temp, Prismatic, Spec, Oper	140	Sft	\$0.25	\$35.00	\$1.15	\$161.00	\$1.00	\$140.00
75	Slope Restoration, Railroad Street	1	LSUM	\$4,800.00	\$4,800.00	\$7,600.00	\$7,600.00	\$8,000.00	\$8,000.00
76	Slope Restoration, Michigan Ave	1	LSUM	\$10,800.00	\$10,800.00	\$32,500.00	\$32,500.00	\$28,000.00	\$28,000.00
77	Slope Restoration, E Olds Drive	1	LSUM	\$2,800.00	\$2,800.00	\$5,500.00	\$5,500.00	\$4,000.00	\$4,000.00
78	Slope Restoration, Hilliard and Hart St	1	LSUM	\$38,000.00	\$38,000.00	\$52,500.00	\$52,500.00	\$14,500.00	\$14,500.00
79	Slope Restoration, Washington St	1	LSUM	\$16,000.00	\$16,000.00	\$37,500.00	\$37,500.00	\$26,000.00	\$26,000.00
80	Insulation Board, 2 inch	2,000	Sft	\$5.00	\$10,000.00	\$7.50	\$15,000.00	\$8.00	\$16,000.00
81	Gate Box, Adj, Case 1, Modified	5	Ea	\$600.00	\$3,000.00	\$775.00	\$3,875.00	\$800.00	\$4,000.00
82	Water Main, DI, 4 inch, Tr Det G, Modified	10	Ft	\$170.00	\$1,700.00	\$460.00	\$4,600.00	\$250.00	\$2,500.00
83	Water Main, DI, 6 inch, Tr Det G, Modified	4,300	Ft	\$125.00	\$537,500.00	\$93.00	\$399,900.00	\$171.00	\$735,300.00
84	Water Main, DI, 8 inch, Tr Det G, Modified	605	Ft	\$165.00	\$99,825.00	\$118.00	\$71,390.00	\$185.00	\$111,925.00
85	Polyethylene Encasement	1,000	Ft	\$2.00	\$2,000.00	\$21.00	\$21,000.00	\$5.00	\$5,000.00
86	Copper Water Service Pipe, 1 inch	4,310	Ft	\$30.00	\$129,300.00	\$42.00	\$181,020.00	\$60.00	\$258,600.00
87	Copper Water Service Pipe, 2 inch	150	Ft	\$60.00	\$9,000.00	\$100.00	\$15,000.00	\$100.00	\$15,000.00
88	Gate Valve and Box, 6 inch	11	Ea	\$2,800.00	\$30,800.00	\$3,375.00	\$37,125.00	\$2,250.00	\$24,750.00
89	Gate Valve and Box, 8 inch	2	Ea	\$3,400.00	\$6,800.00	\$4,050.00	\$8,100.00	\$2,750.00	\$5,500.00
90	Hydrant, Valve and Box, 6 inch	8	Ea	\$8,000.00	\$64,000.00	\$9,200.00	\$73,600.00	\$7,500.00	\$60,000.00
91	Hydrant, Rem	7	Ea	\$800.00	\$5,600.00	\$900.00	\$6,300.00	\$700.00	\$4,900.00
92	Connect to Existing Main, 4 inch	1	Ea	\$3,500.00	\$3,500.00	\$1,275.00	\$1,275.00	\$2,550.00	\$2,550.00
93	Connect to Existing Main, 6 inch	10	Ea	\$3,500.00	\$35,000.00	\$1,300.00	\$13,000.00	\$3,250.00	\$32,500.00



PROJECT: Water System Improvements Project - Contract B

OWNER: City of Hartford

BID OPENING: 6/24/2025 @ 10:00 am

No.	Description	Qty.	Unit	Northern Constru Corpor		Brenner Ex	cavating	B and Z Co	ompany
				Unit Price	Total	Unit Price	Total	Unit Price	Total
94	Connect to Existing Main, 8 inch	3	Ea	\$4,000.00	\$12,000.00	\$1,500.00	\$4,500.00	\$3,800.00	\$11,400.00
95	Connect to Existing Main, 12 inch	1	Ea	\$6,000.00	\$6,000.00	\$2,700.00	\$2,700.00	\$6,650.00	\$6,650.00
96	Water Main, 4 inch, Cut and Plug, Modified	1	Ea	\$1,550.00	\$1,550.00	\$1,375.00	\$1,375.00	\$1,650.00	\$1,650.00
97	Water Main, 6 inch, Cut and Plug, Modified	1	Ea	\$1,650.00	\$1,650.00	\$1,500.00	\$1,500.00	\$2,850.00	\$2,850.00
98	Water Main, 8 inch, Cut and Plug, Modified	1	Ea	\$1,750.00	\$1,750.00	\$1,650.00	\$1,650.00	\$3,150.00	\$3,150.00
99	Water Main, 12 inch, Cut and Plug, Modified	1	Ea	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00	\$3,750.00	\$3,750.00
100	Water Main Line Stop, 4 inch	1	Ea	\$8,000.00	\$8,000.00	\$5,400.00	\$5,400.00	\$7,500.00	\$7,500.00
101	Water Main Line Stop, 6 inch	10	Ea	\$8,000.00	\$80,000.00	\$5,600.00	\$56,000.00	\$7,700.00	\$77,000.00
102	Water Main Line Stop, 8 inch	3	Ea	\$8,500.00	\$25,500.00	\$5,900.00	\$17,700.00	\$8,085.00	\$24,255.00
103	Water Main Line Stop, 12 inch	1	Ea	\$11,000.00	\$11,000.00	\$9,500.00	\$9,500.00	\$11,600.00	\$11,600.00
104	Water Service, 1 inch	71	Ea	\$1,500.00	\$106,500.00	\$1,050.00	\$74,550.00	\$1,400.00	\$99,400.00
105	Water Service, 2 inch	3	Ea	\$3,500.00	\$10,500.00	\$2,200.00	\$6,600.00	\$4,200.00	\$12,600.00
106	Building Reconnection, Slab	14	Ea	\$2,100.00	\$29,400.00	\$625.00	\$8,750.00	\$1,500.00	\$21,000.00
107	Building Reconnection, Basement	45	Ea	\$2,100.00	\$94,500.00	\$625.00	\$28,125.00	\$750.00	\$33,750.00
108	Building Reconnection, Crawl Space	8	Ea	\$2,100.00	\$16,800.00	\$1,125.00	\$9,000.00	\$1,000.00	\$8,000.00
109	Meter, Meter Pit	5	Ea	\$3,000.00	\$15,000.00	\$1,300.00	\$6,500.00	\$1,300.00	\$6,500.00
110	Meter, Building	65	Ea	\$735.00	\$47,775.00	\$1,300.00	\$84,500.00	\$900.00	\$58,500.00
111	Sanitary Sewer, PVC, 8 inch, Tr Det B2, Modified	380	Ft	\$100.00	\$38,000.00	\$90.00	\$34,200.00	\$176.00	\$66,880.00
112	Sanitary Sewer, PVC, 10 inch, Tr Det B2, Modified	50	Ft	\$115.00	\$5,750.00	\$91.00	\$4,550.00	\$190.00	\$9,500.00
113	Sanitary Sewer, PVC, 12 inch, Tr Det B2, Modified	50	Ft	\$125.00	\$6,250.00	\$64.00	\$3,200.00	\$200.00	\$10,000.00
114	Sanitary Sewer Lead, 4 inch	100	Ft	\$40.00	\$4,000.00	\$38.00	\$3,800.00	\$60.00	\$6,000.00
115	Sanitary Sewer Lead, 6 inch	1,100	Ft	\$40.00	\$44,000.00	\$42.00	\$46,200.00	\$80.00	\$88,000.00
116	Sanitary Wye, 8 inch x 6 inch	7	Ea	\$1,600.00	\$11,200.00	\$1,600.00	\$11,200.00	\$2,200.00	\$15,400.00
117	Sanitary Wye, 10 inch x 6 inch	18	Ea	\$2,200.00	\$39,600.00	\$1,800.00	\$32,400.00	\$2,500.00	\$45,000.00
118	Compact Ductile Iron Fittings	3,440	Lb	\$8.00	\$27,520.00	\$14.00	\$48,160.00	\$17.50	\$60,200.00
119	Railroad Protection, at Grade Crossings	20,000	Dlr	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
Total Bi	d				\$3,425,842.50		\$3,463,806.25		\$3,881,917.50

OWNER: City of Hartford

	Description Qty			Krohn Excava	ating LLC	Kalin Construct	ion Co. Inc.	Northern Constru Corpor		B and Z Co	mpany
No.	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization, Max \$225,000	1	LSUM	\$225,000.00	\$225,000.00	\$225,000.00	\$225,000.00	\$225,000.00	\$225,000.00	\$225,000.00	\$225,000.00
2	Tree, Rem, 19 inch to 36 inch	2	Ea	\$1,100.00	\$2,200.00	\$985.00	\$1,970.00	\$1,100.00	\$2,200.00	\$925.00	\$1,850.00
3	Tree, Rem, 37 inch or Larger	2	Ea	\$2,200.00	\$4,400.00	\$1,917.00	\$3,834.00	\$2,200.00	\$4,400.00	\$1,800.00	\$3,600.00
4	Tree, Rem, 6 inch to 18 inch	2	Ea	\$400.00	\$800.00	\$746.00	\$1,492.00	\$500.00	\$1,000.00	\$350.00	\$700.00
5	Culv, Rem, Less than 24 inch	2	Ea	\$300.00	\$600.00	\$566.00	\$1,132.00	\$400.00	\$800.00	\$200.00	\$400.00
6	Dr Structure, Rem	41	Ea	\$600.00	\$24,600.00	\$644.00	\$26,404.00	\$400.00	\$16,400.00	\$500.00	\$20,500.00
7	Sewer, Rem, Less than 24 inch	1,990	Ft	\$24.00	\$47,760.00	\$24.00	\$47,760.00	\$13.00	\$25,870.00	\$15.00	\$29,850.00
8	Curb and Gutter, Rem	2,100	Ft	\$6.00	\$12,600.00	\$9.00	\$18,900.00	\$8.00	\$16,800.00	\$7.50	\$15,750.00
9	Masonry and Conc Structure, Rem	30	Ft	\$30.00	\$900.00	\$51.00	\$1,530.00	\$150.00	\$4,500.00	\$100.00	\$3,000.00
10	Pavt, Rem	80	Cyd	\$22.00	\$1,760.00	\$17.00	\$1,360.00	\$20.00	\$1,600.00	\$30.00	\$2,400.00
11	Sidewalk, Rem	520	Syd	\$11.00	\$5,720.00	\$7.00	\$3,640.00	\$12.00	\$6,240.00	\$5.50	\$2,860.00
12	Subgrade Undercutting, Type II	500	Syd	\$24.00	\$12,000.00	\$20.00	\$10,000.00	\$35.00	\$17,500.00	\$15.00	\$7,500.00
13	Machine Grading, Modified	30	Cyd	\$5,900.00	\$177,000.00	\$5,060.00	\$151,800.00	\$6,100.00	\$183,000.00	\$5,500.00	\$165,000.00
14	Erosion Control, Inlet Protection, Fabric Drop	41	Sta	\$150.00	\$6,150.00	\$139.00	\$5,699.00	\$80.00	\$3,280.00	\$75.00	\$3,075.00
15	Erosion Control, Silt Fence	1,000	Ea	\$3.00	\$3,000.00	\$4.00	\$4,000.00	\$1.00	\$1,000.00	\$1.50	\$1,500.00
16	Subbase, CIP	3,510	Ft	\$25.00	\$87,750.00	\$15.00	\$52,650.00	\$22.00	\$77,220.00	\$5.50	\$19,305.00
17	Aggregate Base, 8 inch	9,800	Syd	\$10.00	\$98,000.00	\$11.00	\$107,800.00	\$11.00	\$107,800.00	\$12.00	\$117,600.00
18	Sewer, CI E, 12 inch, Tr Det B	995	Ft	\$47.00	\$46,765.00	\$66.00	\$65,670.00	\$80.00	\$79,600.00	\$81.00	\$80,595.00
19	Sewer, CI E, 15 inch, Tr Det B	410	Ft	\$52.00	\$21,320.00	\$65.00	\$26,650.00	\$86.00	\$35,260.00	\$95.00	\$38,950.00
20	Sewer, CI E, 18 inch, Tr Det B	50	Ft	\$90.00	\$4,500.00	\$87.00	\$4,350.00	\$93.00	\$4,650.00	\$135.00	\$6,750.00
21	Sewer, CI E, 24 inch, Tr Det B	35	Ft	\$105.00	\$3,675.00	\$100.00	\$3,500.00	\$180.00	\$6,300.00	\$145.00	\$5,075.00
22	Sewer, Perforated, 12 inch	235	Ft	\$74.00	\$17,390.00	\$79.00	\$18,565.00	\$110.00	\$25,850.00	\$210.00	\$49,350.00
23	Dr Structure Cover, Adj, Case 2	2	Ea	\$300.00	\$600.00	\$1,060.00	\$2,120.00	\$800.00	\$1,600.00	\$650.00	\$1,300.00
24	Dr Structure Cover, Type B	13	Ea	\$650.00	\$8,450.00	\$921.00	\$11,973.00	\$800.00	\$10,400.00	\$1,100.00	\$14,300.00
25	Dr Structure Cover, Type C	1	Ea	\$950.00	\$950.00	\$1,202.00	\$1,202.00	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00
26	Dr Structure Cover, Type K	26	Ea	\$950.00	\$24,700.00	\$999.00	\$25,974.00	\$1,000.00	\$26,000.00	\$1,150.00	\$29,900.00
27	Dr Structure Cover, Type Q	9	Ea	\$650.00	\$5,850.00	\$952.00	\$8,568.00	\$800.00	\$7,200.00	\$1,150.00	\$10,350.00
28	Dr Structure, 24 inch dia	18	Ea	\$1,700.00	\$30,600.00	\$1,890.00	\$34,020.00	\$1,900.00	\$34,200.00	\$1,750.00	\$31,500.00
29	Dr Structure, 48 inch dia	11	Ea	\$2,400.00	\$26,400.00	\$2,865.00	\$31,515.00	\$2,750.00	\$30,250.00	\$2,900.00	\$31,900.00
30	Dr Structure, 60 inch dia	2	Ea	\$3,400.00	\$6,800.00	\$4,582.00	\$9,164.00	\$3,600.00	\$7,200.00	\$5,000.00	\$10,000.00
31	Leaching Basin, 60 inch dia	5	Ea	\$5,700.00	\$28,500.00	\$8,047.00	\$40,235.00	\$6,000.00	\$30,000.00	\$7,800.00	\$39,000.00



OWNER: City of Hartford

				Krohn Excava	ating LLC	Kalin Construc	ction Co. Inc.	Northern Constr Corpo		B and Z Co	ompany
No.	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
32	Dr Structure Cover, Adj, Case 1, Modified	13	Ea	\$1,100.00	\$14,300.00	\$1,003.00	\$13,039.00	\$800.00	\$10,400.00	\$350.00	\$4,550.00
33	HMA Surface, Rem	10,440	Syd	\$2.50	\$26,100.00	\$3.00	\$31,320.00	\$5.00	\$52,200.00	\$6.50	\$67,860.00
34	Hand Patching	30	Ton	\$220.00	\$6,600.00	\$213.00	\$6,390.00	\$200.00	\$6,000.00	\$200.00	\$6,000.00
35	HMA, 4EL	1,220	Ton	\$90.00	\$109,800.00	\$92.00	\$112,240.00	\$86.00	\$104,920.00	\$86.00	\$104,920.00
36	HMA, 5EL	1,220	Ton	\$96.00	\$117,120.00	\$98.00	\$119,560.00	\$92.00	\$112,240.00	\$92.00	\$112,240.00
37	Driveway, Nonreinf Conc, 6 inch	1,050	Syd	\$60.65	\$63,682.50	\$49.00	\$51,450.00	\$46.00	\$48,300.00	\$56.25	\$59,062.50
38	Curb and Gutter, Conc, Det C4	5,995	Ft	\$24.00	\$143,880.00	\$20.00	\$119,900.00	\$19.00	\$113,905.00	\$23.00	\$137,885.00
39	Detectable Warning Surface	100	Ft	\$38.50	\$3,850.00	\$37.00	\$3,700.00	\$35.00	\$3,500.00	\$40.00	\$4,000.00
40	Curb Ramp Opening, Conc	155	Ft	\$29.50	\$4,572.50	\$23.00	\$3,565.00	\$22.00	\$3,410.00	\$23.00	\$3,565.00
41	Sidewalk, Conc, 4 inch	3,500	Sft	\$7.55	\$26,425.00	\$4.20	\$14,700.00	\$4.20	\$14,700.00	\$5.50	\$19,250.00
42	Sidewalk, Conc, 6 inch	650	Sft	\$7.80	\$5,070.00	\$5.00	\$3,250.00	\$5.00	\$3,250.00	\$6.25	\$4,062.50
43	Curb Ramp, Conc, 6 inch	690	Sft	\$8.60	\$5,934.00	\$6.00	\$4,140.00	\$5.75	\$3,967.50	\$7.00	\$4,830.00
44	Post, Mailbox	23	Ea	\$150.00	\$3,450.00	\$96.00	\$2,208.00	\$75.00	\$1,725.00	\$50.00	\$1,150.00
45	Post, Steel, 3 pound	230	Ft	\$10.00	\$2,300.00	\$7.00	\$1,610.00	\$7.00	\$1,610.00	\$9.00	\$2,070.00
46	Sign, Type III, Rem	30	Ea	\$55.00	\$1,650.00	\$73.00	\$2,190.00	\$25.00	\$750.00	\$50.00	\$1,500.00
47	Sign, Type IIIA	130	Sft	\$21.00	\$2,730.00	\$20.00	\$2,600.00	\$18.50	\$2,405.00	\$19.00	\$2,470.00
48	Sign, Type IIIB	20	Sft	\$21.00	\$420.00	\$18.00	\$360.00	\$16.50	\$330.00	\$19.00	\$380.00
49	Pavt Mrkg, Ovly Cold Plastic, 6 inch, Crosswalk	600	Ft	\$4.50	\$2,700.00	\$4.00	\$2,400.00	\$4.15	\$2,490.00	\$4.15	\$2,490.00
50	Pavt Mrkg, Ovly Cold Plastic, 18 inch, Stop Bar	125	Ft	\$15.00	\$1,875.00	\$11.00	\$1,375.00	\$12.50	\$1,562.50	\$12.50	\$1,562.50
51	Pavt Mrkg, Waterborne, 6 inch, White	500	Ft	\$1.70	\$850.00	\$3.00	\$1,500.00	\$1.50	\$750.00	\$1.50	\$750.00
52	Pavt Mrkg, Waterborne, 6 inch, Yellow	500	Ft	\$1.70	\$850.00	\$3.00	\$1,500.00	\$1.50	\$750.00	\$1.50	\$750.00
53	Barricade, Type III, High Intensity, Double Sided, Lighted, Fu	10	Ea	\$165.00	\$1,650.00	\$102.00	\$1,020.00	\$96.00	\$960.00	\$150.00	\$1,500.00
54	Barricade, Type III, High Intensity, Double Sided, Lighted, O	10	Ea	\$1.00	\$10.00	\$1.00	\$10.00	\$1.00	\$10.00	\$1.00	\$10.00
55	Pedestrian Type II Barricade, Temp	20	Ea	\$165.00	\$3,300.00	\$80.00	\$1,600.00	\$75.00	\$1,500.00	\$150.00	\$3,000.00
56	Channelizing Device, 42 inch, Fluorescent, Furn	250	Ea	\$32.00	\$8,000.00	\$14.00	\$3,500.00	\$13.00	\$3,250.00	\$29.00	\$7,250.00
57	Channelizing Device, 42 inch, Fluorescent, Oper	250	Ea	\$1.00	\$250.00	\$1.00	\$250.00	\$1.00	\$250.00	\$1.00	\$250.00
58	Minor Traf Devices	1	LSUM	\$57,000.00	\$57,000.00	\$78,027.00	\$78,027.00	\$17,300.00	\$17,300.00	\$11,800.00	\$11,800.00
59	Sign, Type B, Temp, Prismatic, Furn	500	Sft	\$4.40	\$2,200.00	\$5.00	\$2,500.00	\$5.00	\$2,500.00	\$4.00	\$2,000.00
60	Sign, Type B, Temp, Prismatic, Oper	500	Sft	\$1.00	\$500.00	\$0.30	\$150.00	\$0.25	\$125.00	\$1.00	\$500.00
61	Sign, Type B, Temp, Prismatic, Spec, Furn	100	Sft	\$9.00	\$900.00	\$4.00	\$400.00	\$4.00	\$400.00	\$8.00	\$800.00
62	Sign, Type B, Temp, Prismatic, Spec, Oper	100	Sft	\$1.00	\$100.00	\$0.30	\$30.00	\$0.25	\$25.00	\$1.00	\$100.00



OWNER: City of Hartford

		Krohn Excavating LLC Kalin Construction		ruction Co. Inc. Northern Construction Services Corporation			B and Z Company				
No.	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
63	Slope Restoration, Marion Avenue	1	LSUM	\$17,500.00	\$17,500.00	\$29,092.00	\$29,092.00	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00
64	Slope Restoration, Bernard Street	1	LSUM	\$7,200.00	\$7,200.00	\$19,645.00	\$19,645.00	\$12,600.00	\$12,600.00	\$14,400.00	\$14,400.00
65	Slope Restoration, Dunbar Street	1	LSUM	\$3,000.00	\$3,000.00	\$18,293.00	\$18,293.00	\$5,250.00	\$5,250.00	\$6,000.00	\$6,000.00
66	Slope Restoration, Iron Removal Plant	1	LSUM	\$3,200.00	\$3,200.00	\$18,762.00	\$18,762.00	\$560.00	\$560.00	\$6,400.00	\$6,400.00
67	Insulation Board, 2 inch	4,100	Sft	\$6.50	\$26,650.00	\$2.00	\$8,200.00	\$6.00	\$24,600.00	\$6.50	\$26,650.00
68	Gate Box, Adj, Case 1, Modified	5	Ea	\$1,000.00	\$5,000.00	\$436.00	\$2,180.00	\$600.00	\$3,000.00	\$425.00	\$2,125.00
69	Water Main, DI, 4 inch, Tr Det G, Modified	10	Ft	\$100.00	\$1,000.00	\$177.00	\$1,770.00	\$115.00	\$1,150.00	\$250.00	\$2,500.00
70	Water Main, DI, 6 inch, Tr Det G, Modified	2,000	Ft	\$72.00	\$144,000.00	\$82.00	\$164,000.00	\$110.00	\$220,000.00	\$120.00	\$240,000.00
71	Water Main, DI, 8 inch, Tr Det G, Modified	1,755	Ft	\$78.00	\$136,890.00	\$86.00	\$150,930.00	\$118.00	\$207,090.00	\$150.00	\$263,250.00
72	Polyethylene Encasement	1,000	Ft	\$3.00	\$3,000.00	\$0.90	\$900.00	\$2.00	\$2,000.00	\$3.75	\$3,750.00
73	Copper Water Service Pipe, 1 inch	3,085	Ft	\$27.00	\$83,295.00	\$30.00	\$92,550.00	\$30.00	\$92,550.00	\$60.00	\$185,100.00
74	Copper Water Service Pipe, 2 inch	100	Ft	\$50.00	\$5,000.00	\$48.00	\$4,800.00	\$60.00	\$6,000.00	\$100.00	\$10,000.00
75	Gate Valve and Box, 6 inch	10	Ea	\$1,900.00	\$19,000.00	\$1,852.00	\$18,520.00	\$2,800.00	\$28,000.00	\$2,250.00	\$22,500.00
76	Gate Valve and Box, 8 inch	3	Ea	\$2,500.00	\$7,500.00	\$2,378.00	\$7,134.00	\$3,400.00	\$10,200.00	\$2,750.00	\$8,250.00
77	Hydrant, Valve and Box, 6 inch	7	Ea	\$5,200.00	\$36,400.00	\$6,037.00	\$42,259.00	\$8,000.00	\$56,000.00	\$7,500.00	\$52,500.00
78	Hydrant, Rem	6	Ea	\$600.00	\$3,600.00	\$650.00	\$3,900.00	\$800.00	\$4,800.00	\$600.00	\$3,600.00
79	Connect to Existing Main, 4 inch	2	Ea	\$1,800.00	\$3,600.00	\$5,620.00	\$11,240.00	\$3,500.00	\$7,000.00	\$1,800.00	\$3,600.00
80	Connect to Existing Main, 6 inch	4	Ea	\$2,000.00	\$8,000.00	\$3,276.00	\$13,104.00	\$3,500.00	\$14,000.00	\$2,850.00	\$11,400.00
81	Connect to Existing Main, 8 inch	2	Ea	\$2,400.00	\$4,800.00	\$4,318.00	\$8,636.00	\$4,000.00	\$8,000.00	\$3,200.00	\$6,400.00
82	Connect to Existing Main, 12 inch	2	Ea	\$3,500.00	\$7,000.00	\$5,103.00	\$10,206.00	\$6,000.00	\$12,000.00	\$5,000.00	\$10,000.00
83	Water Main, 4 inch, Cut and Plug, Modified	1	Ea	\$400.00	\$400.00	\$2,161.00	\$2,161.00	\$1,550.00	\$1,550.00	\$1,650.00	\$1,650.00
84	Water Main, 6 inch, Cut and Plug, Modified	1	Ea	\$500.00	\$500.00	\$2,217.00	\$2,217.00	\$1,650.00	\$1,650.00	\$2,465.00	\$2,465.00
85	Water Main Line Stop, 4 inch	2	Ea	\$6,100.00	\$12,200.00	\$7,209.00	\$14,418.00	\$8,000.00	\$16,000.00	\$7,580.00	\$15,160.00
86	Water Main Line Stop, 6 inch	4	Ea	\$6,400.00	\$25,600.00	\$7,488.00	\$29,952.00	\$8,000.00	\$32,000.00	\$7,850.00	\$31,400.00
87	Water Main Line Stop, 8 inch	2	Ea	\$6,900.00	\$13,800.00	\$7,927.00	\$15,854.00	\$8,500.00	\$17,000.00	\$8,650.00	\$17,300.00
88	Water Main Line Stop, 12 inch	2	Ea	\$8,900.00	\$17,800.00	\$10,069.00	\$20,138.00	\$11,000.00	\$22,000.00	\$13,500.00	\$27,000.00
89	Water Service, 1 inch	49	Ea	\$1,650.00	\$80,850.00	\$980.00	\$48,020.00	\$1,500.00	\$73,500.00	\$1,400.00	\$68,600.00
90	Water Service, 2 inch	2	Ea	\$2,400.00	\$4,800.00	\$1,902.00	\$3,804.00	\$3,500.00	\$7,000.00	\$4,200.00	\$8,400.00
91	Building Reconnection, Slab	6	Ea	\$2,600.00	\$15,600.00	\$1,438.00	\$8,628.00	\$2,100.00	\$12,600.00	\$1,500.00	\$9,000.00
92	Building Reconnection, Basement	37	Ea	\$1,650.00	\$61,050.00	\$1,438.00	\$53,206.00	\$2,100.00	\$77,700.00	\$750.00	\$27,750.00
93	Building Reconnection, Crawl Space	6	Ea	\$1,650.00	\$9,900.00	\$1,438.00	\$8,628.00	\$2,100.00	\$12,600.00	\$1,000.00	\$6,000.00



OWNER: City of Hartford

BID OPENING: 6/27/2025 @ 11:00 am

				Krohn Excavating LLC Kalin Construction Co. Inc.		Northern Construction Services Corporation		B and Z Company			
No.	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
94	Meter, Meter Pit	9	Ea	\$1,500.00	\$13,500.00	\$3,200.00	\$28,800.00	\$2,000.00	\$18,000.00	\$1,300.00	\$11,700.00
95	Meter, Building	40	Ea	\$900.00	\$36,000.00	\$1,473.00	\$58,920.00	\$735.00	\$29,400.00	\$900.00	\$36,000.00
96	Sanitary Sewer, PVC, 8 inch, Tr Det B2	50	Ft	\$51.00	\$2,550.00	\$108.00	\$5,400.00	\$100.00	\$5,000.00	\$115.00	\$5,750.00
97	Sanitary Sewer, PVC, 10 inch, Tr Det B2	50	Ft	\$84.00	\$4,200.00	\$119.00	\$5,950.00	\$115.00	\$5,750.00	\$140.00	\$7,000.00
98	Sanitary Sewer, PVC, 12 inch, Tr Det B2	50	Ft	\$105.00	\$5,250.00	\$122.00	\$6,100.00	\$125.00	\$6,250.00	\$160.00	\$8,000.00
99	Force Main, 2 inch	785	Ft	\$29.00	\$22,765.00	\$31.00	\$24,335.00	\$40.00	\$31,400.00	\$21.50	\$16,877.50
100	Sanitary Sewer Lead, 4 inch	100	Ft	\$27.00	\$2,700.00	\$204.00	\$20,400.00	\$40.00	\$4,000.00	\$60.00	\$6,000.00
101	Sanitary Sewer Lead, 6 inch	880	Ft	\$41.00	\$36,080.00	\$104.00	\$91,520.00	\$40.00	\$35,200.00	\$80.00	\$70,400.00
102	Sanitary Wye, 12 inch x 6 inch	26	Ea	\$1,300.00	\$33,800.00	\$3,220.00	\$83,720.00	\$2,200.00	\$57,200.00	\$2,900.00	\$75,400.00
103	Gate Valve and Box, 2 inch	2	Ea	\$830.00	\$1,660.00	\$1,298.00	\$2,596.00	\$1,500.00	\$3,000.00	\$1,200.00	\$2,400.00
104	Connect to Existing Force Main, 2 inch	1	Ea	\$800.00	\$800.00	\$2,743.00	\$2,743.00	\$1,500.00	\$1,500.00	\$3,800.00	\$3,800.00
105	Connect to Existing Force Main, Backwash Storage Tank	1	Ea	\$1,200.00	\$1,200.00	\$2,743.00	\$2,743.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00
106	Compact Ductile Iron Fittings	2,825	Lb	\$8.50	\$24,012.50	\$12.00	\$33,900.00	\$9.00	\$25,425.00	\$17.50	\$49,437.50
Total Bi	d				\$2,507,461.50		\$2,735,235.00		\$2,757,130.00		\$2,962,532.50

PROJECT: Water System Improvements Project - Contract C

OWNER: City of Hartford

				Pajay, I	nc.	Brenner Excavating		
No.	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	
1	Mobilization, Max \$225,000	1	LSUM	\$225,000.00	\$225,000.00	\$155,000.00	\$155,000.00	
2	Tree, Rem, 19 inch to 36 inch	2	Ea	\$1,200.00	\$2,400.00	\$1,875.00	\$3,750.00	
3	Tree, Rem, 37 inch or Larger	2	Ea	\$2,300.00	\$4,600.00	\$2,565.00	\$5,130.00	
4	Tree, Rem, 6 inch to 18 inch	2	Ea	\$500.00	\$1,000.00	\$500.00	\$1,000.00	
5	Culv, Rem, Less than 24 inch	2	Ea	\$500.00	\$1,000.00	\$170.00	\$340.00	
6	Dr Structure, Rem	41	Ea	\$750.00	\$30,750.00	\$1,100.00	\$45,100.00	
7	Sewer, Rem, Less than 24 inch	1,990	Ft	\$10.00	\$19,900.00	\$17.50	\$34,825.00	
8	Curb and Gutter, Rem	2,100	Ft	\$10.00	\$21,000.00	\$13.50	\$28,350.00	
9	Masonry and Conc Structure, Rem	30	Ft	\$50.00	\$1,500.00	\$58.50	\$1,755.00	
10	Pavt, Rem	80	Cyd	\$20.00	\$1,600.00	\$73.00	\$5,840.00	
11	Sidewalk, Rem	520	Syd	\$10.00	\$5,200.00	\$18.50	\$9,620.00	
12	Subgrade Undercutting, Type II	500	Syd	\$15.00	\$7,500.00	\$40.00	\$20,000.00	
13	Machine Grading, Modified	30	Cyd	\$3,500.00	\$105,000.00	\$8,350.00	\$250,500.00	
14	Erosion Control, Inlet Protection, Fabric Drop	41	Sta	\$75.00	\$3,075.00	\$115.00	\$4,715.00	
15	Erosion Control, Silt Fence	1,000	Ea	\$2.00	\$2,000.00	\$3.25	\$3,250.00	
16	Subbase, CIP	3,510	Ft	\$22.00	\$77,220.00	\$33.50	\$117,585.00	
17	Aggregate Base, 8 inch	9,800	Syd	\$7.00	\$68,600.00	\$16.00	\$156,800.00	
18	Sewer, CI E, 12 inch, Tr Det B	995	Ft	\$40.00	\$39,800.00	\$53.00	\$52,735.00	
19	Sewer, CI E, 15 inch, Tr Det B	410	Ft	\$45.00	\$18,450.00	\$74.00	\$30,340.00	
20	Sewer, CI E, 18 inch, Tr Det B	50	Ft	\$100.00	\$5,000.00	\$90.00	\$4,500.00	
21	Sewer, Cl E, 24 inch, Tr Det B	35	Ft	\$125.00	\$4,375.00	\$430.00	\$15,050.00	
22	Sewer, Perforated, 12 inch	235	Ft	\$50.00	\$11,750.00	\$35.00	\$8,225.00	
23	Dr Structure Cover, Adj, Case 2	2	Ea	\$350.00	\$700.00	\$865.00	\$1,730.00	
24	Dr Structure Cover, Type B	13	Ea	\$750.00	\$9,750.00	\$1,000.00	\$13,000.00	
25	Dr Structure Cover, Type C	1	Ea	\$1,100.00	\$1,100.00	\$1,350.00	\$1,350.00	
26	Dr Structure Cover, Type K	26	Ea	\$1,000.00	\$26,000.00	\$1,350.00	\$35,100.00	
27	Dr Structure Cover, Type Q	9	Ea	\$750.00	\$6,750.00	\$1,050.00	\$9,450.00	
28	Dr Structure, 24 inch dia	18	Ea	\$1,800.00	\$32,400.00	\$1,950.00	\$35,100.00	
29	Dr Structure, 48 inch dia	11	Ea	\$4,500.00	\$49,500.00	\$3,385.00	\$37,235.00	
30	Dr Structure, 60 inch dia	2	Ea	\$5,500.00	\$11,000.00	\$6,050.00	\$12,100.00	
31	Leaching Basin, 60 inch dia	5	Ea	\$5,500.00	\$27,500.00	\$7,500.00	\$37,500.00	



PROJECT: Water System Improvements Project - Contract C

OWNER: City of Hartford

				Pajay,	Inc.	Brenner Excavating		
No.	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	
32	Dr Structure Cover, Adj, Case 1, Modified	13	Ea	\$350.00	\$4,550.00	\$1,500.00	\$19,500.00	
33	HMA Surface, Rem	10,440	Syd	\$2.00	\$20,880.00	\$2.55	\$26,622.00	
34	Hand Patching	30	Ton	\$250.00	\$7,500.00	\$226.00	\$6,780.00	
35	HMA, 4EL	1,220	Ton	\$90.00	\$109,800.00	\$98.00	\$119,560.00	
36	HMA, 5EL	1,220	Ton	\$97.00	\$118,340.00	\$105.00	\$128,100.00	
37	Driveway, Nonreinf Conc, 6 inch	1,050	Syd	\$59.00	\$61,950.00	\$68.00	\$71,400.00	
38	Curb and Gutter, Conc, Det C4	5,995	Ft	\$25.00	\$149,875.00	\$32.00	\$191,840.00	
39	Detectable Warning Surface	100	Ft	\$45.00	\$4,500.00	\$39.00	\$3,900.00	
40	Curb Ramp Opening, Conc	155	Ft	\$25.00	\$3,875.00	\$29.00	\$4,495.00	
41	Sidewalk, Conc, 4 inch	3,500	Sft	\$6.00	\$21,000.00	\$6.50	\$22,750.00	
42	Sidewalk, Conc, 6 inch	650	Sft	\$7.00	\$4,550.00	\$8.00	\$5,200.00	
43	Curb Ramp, Conc, 6 inch	690	Sft	\$8.00	\$5,520.00	\$9.00	\$6,210.00	
44	Post, Mailbox	23	Ea	\$100.00	\$2,300.00	\$215.00	\$4,945.00	
45	Post, Steel, 3 pound	230	Ft	\$10.00	\$2,300.00	\$10.20	\$2,346.00	
46	Sign, Type III, Rem	30	Ea	\$75.00	\$2,250.00	\$56.60	\$1,698.00	
47	Sign, Type IIIA	130	Sft	\$20.00	\$2,600.00	\$21.70	\$2,821.00	
48	Sign, Type IIIB	20	Sft	\$20.00	\$400.00	\$21.70	\$434.00	
49	Pavt Mrkg, Ovly Cold Plastic, 6 inch, Crosswalk	600	Ft	\$5.00	\$3,000.00	\$3.45	\$2,070.00	
50	Pavt Mrkg, Ovly Cold Plastic, 18 inch, Stop Bar	125	Ft	\$13.00	\$1,625.00	\$9.15	\$1,143.75	
51	Pavt Mrkg, Waterborne, 6 inch, White	500	Ft	\$2.00	\$1,000.00	\$0.29	\$145.00	
52	Pavt Mrkg, Waterborne, 6 inch, Yellow	500	Ft	\$2.00	\$1,000.00	\$0.29	\$145.00	
53	Barricade, Type III, High Intensity, Double Sided, Lighted, Fu	10	Ea	\$175.00	\$1,750.00	\$169.50	\$1,695.00	
54	Barricade, Type III, High Intensity, Double Sided, Lighted, O	10	Ea	\$5.00	\$50.00	\$1.15	\$11.50	
55	Pedestrian Type II Barricade, Temp	20	Ea	\$175.00	\$3,500.00	\$141.50	\$2,830.00	
56	Channelizing Device, 42 inch, Fluorescent, Furn	250	Ea	\$31.00	\$7,750.00	\$32.80	\$8,200.00	
57	Channelizing Device, 42 inch, Fluorescent, Oper	250	Ea	\$2.00	\$500.00	\$1.15	\$287.50	
58	Minor Traf Devices	1	LSUM	\$13,000.00	\$13,000.00	\$35,000.00	\$35,000.00	
59	Sign, Type B, Temp, Prismatic, Furn	500	Sft	\$5.00	\$2,500.00	\$4.50	\$2,250.00	
60	Sign, Type B, Temp, Prismatic, Oper	500	Sft	\$2.00	\$1,000.00	\$1.15	\$575.00	
61	Sign, Type B, Temp, Prismatic, Spec, Furn	100	Sft	\$10.00	\$1,000.00	\$9.05	\$905.00	
62	Sign, Type B, Temp, Prismatic, Spec, Oper	100	Sft	\$2.00	\$200.00	\$1.15	\$115.00	



PROJECT: Water System Improvements Project - Contract C

OWNER: City of Hartford

				Pajay,	Inc.	Brenner Excavating		
No.	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	
63	Slope Restoration, Marion Avenue	1	LSUM	\$5,000.00	\$5,000.00	\$63,000.00	\$63,000.00	
64	Slope Restoration, Bernard Street	1	LSUM	\$5,000.00	\$5,000.00	\$30,000.00	\$30,000.00	
65	Slope Restoration, Dunbar Street	1	LSUM	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00	
66	Slope Restoration, Iron Removal Plant	1	LSUM	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	
67	Insulation Board, 2 inch	4,100	Sft	\$10.00	\$41,000.00	\$3.55	\$14,555.00	
68	Gate Box, Adj, Case 1, Modified	5	Ea	\$500.00	\$2,500.00	\$750.00	\$3,750.00	
69	Water Main, DI, 4 inch, Tr Det G, Modified	10	Ft	\$100.00	\$1,000.00	\$443.00	\$4,430.00	
70	Water Main, DI, 6 inch, Tr Det G, Modified	2,000	Ft	\$196.00	\$392,000.00	\$87.50	\$175,000.00	
71	Water Main, DI, 8 inch, Tr Det G, Modified	1,755	Ft	\$210.00	\$368,550.00	\$117.00	\$205,335.00	
72	Polyethylene Encasement	1,000	Ft	\$2.00	\$2,000.00	\$39.00	\$39,000.00	
73	Copper Water Service Pipe, 1 inch	3,085	Ft	\$27.00	\$83,295.00	\$62.00	\$191,270.00	
74	Copper Water Service Pipe, 2 inch	100	Ft	\$75.00	\$7,500.00	\$121.00	\$12,100.00	
75	Gate Valve and Box, 6 inch	10	Ea	\$1,750.00	\$17,500.00	\$3,250.00	\$32,500.00	
76	Gate Valve and Box, 8 inch	3	Ea	\$2,400.00	\$7,200.00	\$3,850.00	\$11,550.00	
77	Hydrant, Valve and Box, 6 inch	7	Ea	\$5,200.00	\$36,400.00	\$8,850.00	\$61,950.00	
78	Hydrant, Rem	6	Ea	\$750.00	\$4,500.00	\$875.00	\$5,250.00	
79	Connect to Existing Main, 4 inch	2	Ea	\$2,500.00	\$5,000.00	\$1,200.00	\$2,400.00	
80	Connect to Existing Main, 6 inch	4	Ea	\$3,500.00	\$14,000.00	\$1,500.00	\$6,000.00	
81	Connect to Existing Main, 8 inch	2	Ea	\$4,000.00	\$8,000.00	\$1,600.00	\$3,200.00	
82	Connect to Existing Main, 12 inch	2	Ea	\$4,500.00	\$9,000.00	\$2,450.00	\$4,900.00	
83	Water Main, 4 inch, Cut and Plug, Modified	1	Ea	\$1,500.00	\$1,500.00	\$1,350.00	\$1,350.00	
84	Water Main, 6 inch, Cut and Plug, Modified	1	Ea	\$1,600.00	\$1,600.00	\$1,450.00	\$1,450.00	
85	Water Main Line Stop, 4 inch	2	Ea	\$5,500.00	\$11,000.00	\$5,400.00	\$10,800.00	
86	Water Main Line Stop, 6 inch	4	Ea	\$5,800.00	\$23,200.00	\$5,600.00	\$22,400.00	
87	Water Main Line Stop, 8 inch	2	Ea	\$6,000.00	\$12,000.00	\$5,900.00	\$11,800.00	
88	Water Main Line Stop, 12 inch	2	Ea	\$10,000.00	\$20,000.00	\$9,500.00	\$19,000.00	
89	Water Service, 1 inch	49	Ea	\$1,125.00	\$55,125.00	\$1,100.00	\$53,900.00	
90	Water Service, 2 inch	2	Ea	\$2,500.00	\$5,000.00	\$2,200.00	\$4,400.00	
91	Building Reconnection, Slab	6	Ea	\$4,500.00	\$27,000.00	\$625.00	\$3,750.00	
92	Building Reconnection, Basement	37	Ea	\$4,000.00	\$148,000.00	\$625.00	\$23,125.00	
93	Building Reconnection, Crawl Space	6	Ea	\$4,500.00	\$27,000.00	\$1,125.00	\$6,750.00	



OWNER: City of Hartford

BID OPENING: 6/27/2025 @ 11:00 am

				Pajay,	Pajay, Inc.		xcavating
No.	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total
94	Meter, Meter Pit	9	Ea	\$1,500.00	\$13,500.00	\$1,300.00	\$11,700.00
95	Meter, Building	40	Ea	\$1,975.00	\$79,000.00	\$1,300.00	\$52,000.00
96	Sanitary Sewer, PVC, 8 inch, Tr Det B2	50	Ft	\$100.00	\$5,000.00	\$650.00	\$32,500.00
97	Sanitary Sewer, PVC, 10 inch, Tr Det B2	50	Ft	\$100.00	\$5,000.00	\$88.00	\$4,400.00
98	Sanitary Sewer, PVC, 12 inch, Tr Det B2	50	Ft	\$200.00	\$10,000.00	\$62.00	\$3,100.00
99	Force Main, 2 inch	785	Ft	\$30.00	\$23,550.00	\$58.00	\$45,530.00
100	Sanitary Sewer Lead, 4 inch	100	Ft	\$25.00	\$2,500.00	\$37.00	\$3,700.00
101	Sanitary Sewer Lead, 6 inch	880	Ft	\$30.00	\$26,400.00	\$41.00	\$36,080.00
102	Sanitary Wye, 12 inch x 6 inch	26	Ea	\$1,900.00	\$49,400.00	\$3,550.00	\$92,300.00
103	Gate Valve and Box, 2 inch	2	Ea	\$650.00	\$1,300.00	\$3,000.00	\$6,000.00
104	Connect to Existing Force Main, 2 inch	1	Ea	\$2,500.00	\$2,500.00	\$500.00	\$500.00
105	Connect to Existing Force Main, Backwash Storage Tank	1	Ea	\$5,000.00	\$5,000.00	\$500.00	\$500.00
106	Compact Ductile Iron Fittings	2,825	Lb	\$8.00	\$22,600.00	\$3.30	\$9,322.50
Total Bio	 				\$2,978,105.00		\$3,156,496.25

OWNER: City of Hartford

				LD Dosca		Allied Me	chanical	
No.	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	
1	Controls and Instrumentation Work	1	LSUM	\$416,500.00	\$416,500.00	\$399,961.00	\$399,961.00	
2	Process Work	1	LSUM	\$48,500.00	\$48,500.00	\$160,000.00	\$160,000.00	
Total Ba	Total Base Bid				\$465,000.00		\$559,961.00	
Alternate	Bid Items							
3	Alt 1 – HVAC Work	1	LSUM	\$12,000.00	\$12,000.00	\$13,000.00	\$13,000.00	
4	Alt 2 – Electrical Work	1	LSUM	\$32,150.00	\$32,150.00	\$30,000.00	\$30,000.00	
Total Ba	se Bid and Alternate 1 and 2			\$509,150.00		\$602,961.00		

